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. According to the article, why is June not such a good time for

foreign tourists to visit Japan?

A. Because it is usually too hot.

B. Because it usually has too many tourists.
C. Because it usually rains a lot.

D. Because it is usually too expensive.

According to the article, what does the author think about ’
Hokkaido? , -

A. Itis a place where people are surprised by the use of umbrellas.
B. Itis apleasant place to visit during the summer.

C. Tourists should avoid it because it is too cold.

D. Not enough tourists consider visiting it.

From what you have read, what is one thing the author assumes
about visiting Japan in June? ’
A. Tourists do not like water.

B. Tourists do not have umbrellas.

C. Tourists do not like rain.

D. Tourists do not check the weather forecast.
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4. "Why would visitors from the United Kingdom not be surprised by

the use of umbrellas in Japan?

A.

B.

Because compared to Americans, people from the United
Kingdom are less likely to visit Japan.

Because compared to Americans; people from the United
Kingdom are not easily surprised.

Because people from the United Kingdom usually carry

- umbrellas.

Because people from the United Kingdom never think about
umbrellas.

5. On average, how many umbrellas does each person in Japan own?

A.
B
C.
D. No more than two.

A little more than three.
A little more than four.
No more than three.

6. What does the word “hypothesis” (line 26) mean, as it is used in
the article?

A.
B.
C.
D. A possible explanation that can be investigated.

A possible reason that does not need evidence.
The best explanation, given the evidence.
A reason that is always rejected.
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9.

‘What does “downpoufs” (line 52) mean, as it is used in the article?
A. High humidity. ‘

B. Heavy rain.

C. Rainy seasons.

D. Rain drops.

What does “low~ticket” (line 53) mean, as it is used in the article?
A, Low quality.

B. Ordinary.

C. Disposable.

D. Inexpensive.

Based on the article, which answer is most likely to be correct?

'A. The use of umbrellas in Japan originally came from the United
Kingdom and therefore is not considered to be part of Japanese
culture. '

B. The use of umbrellas in Japan has a lohg history and is
considered to be part of Japanese culture.

C. The use of umbrellas in Japan dates back thousands of years
when they were first used in kabuki plays.

D. The use of umbrellas in Asia started in Japan and they were
used by ordinary people in the 17th century.
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10. According to the author, what can we do through careful
observation?
A. 'We can notice how people in different societies lead similar
lifestyles.
B. We can recognize that there is only one view of diversity.
C. We can find new places that are interesting to visit. ‘
D. We can notice small differences between different societies.

11. Which of the following would the author probably agree with, in

relation to diversity?

A. Japan should not accept more immigrants because they have
different cultures.

B. Men have different abilities to women, so they make better
business leaders. '

C. People in different age groups may have different ideas and -
this can be beneficial to society.

D. Too much foreign food in Japan will destroy Japanese food
culture. |
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12. Disposable umbrellas are popular in Japan. However, having too.

many of these could cause problems for Japan in the future. Which

answer best explains why this might be so?

A.

Train and bus staff would not be able to cope with all the IOSt,
disposable nmbrellas, which would cause problems for the

fransport system.

Disposable umbrellas are made of plastic, which could harm
the environment when disposed of.

The quality of disposable umbrellas is very poor and they will
break and cause many accidents.

Disposable umbrellas are not as effective as other types of
umbrellas and people might stop buying them, which would be
bad for the economy.

13. Nowadays, Japanese Edo style umbrellas are a popular gift for

foreign tourists to buy. Based on the article, which answer might

best explain why this is s0?

A,

B.

They are a symbol of Japan’s economy and high-ranking place
in the world.

They are a free gift to show their family and friends they have
been to Japan. :
They are a special gift that originally came from the United
Kingdom and that the Japanese improved.

They are a symbol of Japan’s history, culture, and beauty.
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14. Which of the following would the author most likely agree with? - -

15.

A.

B.

Learning about different cultures and societies can enrich our
lives. '

People should avoid paying attention to differences because it
causes difficulty.

Japanese should stop relying on umbrellas so much, so that
they can be more like Americans.

Japanese should not buy cheap umbrellas imported from other

countries,

From the article, which answer might best explain one advantage

of diversity in any society?

A.

B.

It helps people to become more understanding and accepting
of different people and ideas from various cultures.

It helps attract wealthy tourists, which is good for the economy
and the country.

It helps the development of different ideas for Japanese
umbrellas, which are popular with tourists around the world.

It helps people to become more interested in global issues and
politics, especially younger people.
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1. Do you think new technology can make people happy? Why or why
‘not? '

OR

2. In your opinion, should all family members usually eat dinner
together? Why or why not?
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